INVENTORY MODELS

Problem 1


The monthly demand of electronic supply produced by Samsung Electronics is 8,500. It cost Samsung P 950.00 to put this into operation. The weekly cost of carrying this item in inventory is P 6,500. Assuming that Samsung does want shortages to occur, how many supplies should be produced per production run and how frequently should production be stopped?

Given: A = 8,500

Find:
Qn, Qd



C = 950



P = 6,500

Solution:

Qn =    AC  =
     8,500 (950)
     = 25 no. of supplies should be 


 2P 
       2 (6,500)

produced


Qd = 365 
2P
= 365 
     2 ( 6,500)
= 15 days




AC

     8,500 (950)

Problem 2


LRS Construction Company requires 490,000 tons of cement. The cost per delivery is P 125.00, no matter how much cement is ordered. The company pays P 2.50 per tons of cement. It is estimated that the carrying cost is 10% of the inventory. Find the ordering cost, carrying cost and the optimum annual cost of inventory.

Given : Cost per order = 125
Find: ordering cost, carrying cost and  


C = 10%



annual cost of inventory


P = 2.50


A = 490,000


Solution:


Qn = 
  AC
=      490,000 (10%)
= 98.99



   2P

2 (2.50)


ordering cost = Qn x P




= 98.99 x 2.50




= P 247.475 or  P 247.5


carrying cost = A x ½  x .1




   Qn




= 490,000   x ½  x .1




     98.99




= P 247.5


annual cost of inventory = ordering + carrying




= P 247.5 + P 247.5




= P 495.00

Problem 3


The Mitsubishi Motors Corporation has a contract to supply 5,000 cars a year at a uniform monthly rate. The annual storage cost of the car is P 150.00 and the set-up cost for production run is P 500.00. If the production is instantaneous and shortages are not permitted, determined the number of cars, which should be produced in each run in order to minimize the total annual cost of inventory.


Given: A = 5,000

Find: no. of cars to be produced



Ordering cost = 150



P = 500



Solution: Qn =      AC =  
5,000 (150)



        2P
2 (500)




= 27 no. of cars to be produced in each run

Problem 4


Miriam Book Store stocks a very popular pocket book for which there is a demand of 2,000 copies per month. The publisher pays tax, but the bookstore pays P 1.50 for each order in typing and other costs. Carrying cost is P 0.50 per month. In order to minimize total inventory cost, how many books should be ordered at one time? How frequently should orders be placed?


Given: A = 2000


Find: Qn, Qd



Cost per order = 1.50



Carrying cost = .50



Solution: Qn =      AC  =  
  2,000 (.50)




        2P
   2 (1.50)




= 18 no. of books should be ordered at one time



Qd = 365 
2P





AC





365 
2 (1.50)
= 20 days





2,000(.50)

Problem 5


The Triple A Corporation sells flashlights. Annual requirements are 7,400 units and price is P 250.00 per unit. The company estimates ordering costs to be P450.00 per order and carrying cost at 20% of the average inventory. Calculate the annual ordering cost for the proper order quantity.  


Given: price per unit = 250

Find: annual ordering cost



Ordering cost = 450



Carrying cost = 20%



A = 7,400 units


Solution:



Qn = 
  AC    =      7,400(20%)



  2P

2(250)





= 1.72



ordering cost = Qn x P





= 1.72 x 250





= P 430



carrying cost = A   x  ½  x .2





   Qn





= P 430

